O—F—LYF FIIE-IUEHRERDA

MCC

mE: CWVDA250

CWVDAS3O0O

CWVDAS350

CWVDA450

14
CWVDA250 CWVDA350
HRES B B = | No HRES &b & & #=| No
1148001 A& 1 1 1150001 ENES 1 1
1148002 | JL—L4 1 2 1150002 | JL—4 1 2
1148004 | £73 1 4 1150004 | E74 1 4
1148005 | A4—L 1 5 1150005 | #—L 1 5
1148006 | Ev 1 6 1150006 | E> 1 6
1148007 EVRL/AAR 1 7 1150007 EVLAR 1 7
1148008 | JL—LRyhk 1 8 1150008 | JL—LYRyk 1 8
1148010 TES 1 10 1150010 | FEE 1 10
1148011 LELES] 11 1150011 [ELES] 1 11
1148012 | ARATUFRILE M4 x 8 1 12 1150012 | RATUTHRILE M5 x 10 1 12
1148013 | EMRATUITEY $6x36 AW 1 14 1150013 | SERTYLIEY $8 x50 AW 1 14
CWVDA300 CWVDA450

HaES B & B H=| N HBRES &b & B H=2| N
1149001 KK 1 1 1151001 &K 1 1
1149002 | JL—L 1 2 1151002 | IL—L 1 2
1149004 73 1 4 1151004 73 1 4
1149005 | oA—L 1 5 1151005 | o#—L 1 5
1149006 | Ev 1 6 1151006 | > 1 6
1149007 EL#L/AR 1 7 1151007 ELRL/ AR 1 7
1149008 | JL—LURyk 1 8 1151008 | JL—LRyk 1 8
1149010 TEE 1 10 1151010 | FES 1 10
1149011 s 1 11 1151011 biEE:S) 1 11
1149012 | RATUFRILE M5 x 10 1 12 1151012 | ARANEFARILE M6 x 12 1 12
1149013 BRATILTEY $8 x45 AW 1 14 1151013 BRI TEY $8 x60 AW 1 14




